FUINTUYE 1545 TEEOH - 808y &
NO. 1 NO.2 NO.3

113-5 116-7 1]-8-5
2 |-11+7 2 |-15-8 2 |-14+5
3|-17-5 3|-13+9 3(7-15
4 |3-(-5) 4 |-3-(-4) 4 |6-(-5)
5 |-8+(-7) 5 |7+(-9) 5 |—4+(-8)
6 |-15-(-14) 6 |-13-(-9) 6 |-7-(-15)
7|-23+38 7(-29-34 7 |-4.5+2.6
s |-4+3 s -4+ | -5+3
= o |- o |43
10(-9x3 10| -7 % (-5) 10| -6 x (-8)
11|54+ (-9) 1148+ (-8) 11|-36 = (—4)
12-36+9x5 12-27+3x6 12|24 = (~4)x 7
13 [(-9)? 13[(=2)? 13| (=7)?
14 |(=3)° 14 |-82 14 |52
15| 700 x (-0.6) 15| (=0.7) x (-0.8) 15 -2.5%0.8
16|-5.4+0.6 16 |4 = (-0.5) 16| (-8.1) = (-0.9)
17 —%)xf—5 17 %x(—%) 17 —%)x(—%)
18|(-5) = (-2 18|2+(-19) 18|-% - 4L
19|(-20) x4 - (-2 19|(-5) - 52 19|42 (-2)x 4L
20 | (—4)? +(=3?) 209 -(-2)° 20 | -62 +(-5)?
21|7-6+8-5 21|8-7+13-10 2119-11+13-8
2219-3x(-2) 22|18-12+(-3) 22|-3-(-42)+6
23|27+ (-3)+5 23| (-6)x8+7x9 23({27-(=27)+9}+6
24|-9-15+2-7) 2411 - (-7)x (3 -5) 24 (3x{-4-(-8+5)}
25 [ (=2)2 x4 - (6 -15) = (=3) 25|7-{12+-(5-3%)} 25|1+{-5-24=(1-7)}




FUITUVE 1545 TIEOH - B0y #
NoO.4 NO.5 NO.6

13-7 1/5-9 1|-7-6
2 |-11+5 2 |-13-7 2 |-17+5
3|-16-7 3 |-14+8 3|8-16
413-(-7) 4 |-3-(-8) 4 16-(-7)
5 |9+ (-5) 5 |7+(-8) 5 |-5+(-8)
6 |-15-(-16) 6 |-14-(-9) 6 |-6-(-13)
7 |-1.7+39 7|-27-35 7 |-53+2.7
8 |-%+% 8|-5+4 8|-5+3
9475 °17°% 91475
10|-8x6 10 |=7x (-8) 10 [-6%x(-9)
1|42+ (-7) 1156+ (-8) 11 |-40+ (-5)
12|-27+3x5 12|-27+3%5 12|-32+ (-4)x 3
13 |(-5)? 13|(-3)? 13|(-1)°
14|(-2)° 14|67 14 =72
15 0.7 (-0.6) 15| =300 % (-0.4) 15 -1.5x 0.6
16|-24+06 16 |3+ (-0.5) 16 |(-6.3) + (-0.9)
17|(-35)x & 17 1;45><(—275 17 (—%)x(—%)
18(-3)+(-2) 18] %+ (-5 18|25+
19| (%) x 3+ (-4 19](—55)+ S x4 19|22 . -2y« 12
20 [ (=5)% +(=3?) 20 |7-(-3)? 20 [ =32 +(-5)?
21(7-5+4-8 21(8-9+11-6 21(8-7+13-10
22 (8- 6x(-3) 22(15-9+(-3) 22 |-5+(-30) 5
23|24+ (-8)+5 23|5-12+(1-5) 23|{17-(-20)+ 5} =7
24 |{5-12+ (=3)} x (—4) 24|15 (-4 x(2-7) 24|2x{-5~-(-7+3)}
25|42 +{7+8+(-2)| x5 25| {10 (7-3%) x4} + (-3) 25(10+{-5-21+(5-8)]




FUINTUYE 1545 TEEOH - 808y &

NO.7 NO.8 NO.9
11(3-8 115-7 1|-4-5
2 |-12+3 2 |-11-5 2 |-13+8
3|-18-9 3 |-15+8 3|7-12
4 |6-(-5) 4 |-3-(-4) 4 |6-(-5)
5 |-3+(-8) 5 |5+(-9) 5 |—4+(=7)
6 |-13-(-17) 6 |-18-(-9) 6 |-7-(-14)
7 |-15+32 7 |-1.7-44 7 |-62+34
8|-5+3 8|-5+% 8|-5+%
9173 917-% 90473
10[-7x9 10 | =6 x (—8) 10 [-7%x(-9)
11|-48+(-8) 1149+ (-7) 11|-24+(-8)
12|-24+3x7 12|-21+3x6 12 |—42 = (-6) x4
13| (-3)? 13| (-4)? 13| (-2)*
14|-23 14|-3% 14|-52
15| 2.4 % (-0.5) 15| —300 % (-0.8) 15|-0.7% 0.9
16|-1.8+0.6 16|2.7+(~0.3) 16 | (=5.6) = (=0.7)
17|(-75) %14 17|(-55)% 35 17((-2)x (%)
18|(-%)+ (-2) 184+ (-2 18|-2+1L2
19]-2)x L+ (-2 19((-%)+Zx3 192+ (-L)x 2L
20 | (-2)% +(-3)? 20 |8-(-2)? 20 |32 +(-3)?
21|3-5+7-6 21|4-9+12-8 21|5-7+13-14
22 |15-12+(-3) 229-3x%(-2) 22 |6+ (-24)+ 8
23|(-5)x2+3 23/6-8+(3-5) 23|{8-(-5)x2}+6
24 |-7-12+(2-8) 24 |18+ (-5)x2-3 24 |3x{-3-(18-6)}
25| (-3)2x5+{8—(-6)} +2 25|9-{-22-(6-9)} x4 25|9-{-3-12+(2-5)]




